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Speed of Boat in Downstream (YRT & fe=m &)

= D
Speed of Boat in Upstream (YRT 1 Taudra feam) =
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Speed of Boat in constant/ still water (N STel) =

Speed of River/ Flow/ Water / Current/ Stream (9RT) =




A boat covers 15km in 2.5 hours in downstream and against stream same
distance travel in 3 hrs. Find speed of boat in still watere

Teh AT UNT & 3iefpel 15 ThaAl P gl 2.5 8¢ H T AT & IR U & fauda
HATA 1 &7 AT 3 ' H Al &l ATd STl H g & ATl AT HIToiw?

NP, A. 6
B. 5
C. 55
D. 8
E. NOT



A boat rows downstream covers a distance of 20 km in 2 hrs while it covers
the same distance upstream in 5 hrs. Then speed of the boat in still water is
Uh ATd YRT 1 feem & 2 g¢ & 20 fh.#. E{qu AT & STdfeh 3=l & gl
Wﬂ;%uﬁ?&r%@nﬁsaﬁﬁdq BT &, dl AT ST & A1 hT Tl
ST I
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The speed of a boat in still water is 10 km/hr. It covers (upstream) a distance
of 45km in 6 hours. The speed (in km/hr) of the stream is :

M SToT H Th ATg &l ATl 10 Toh. AT, "el &, I& YRT & Ufdgel 45 fob.aT.
i 6 U¢ H T AT &, dl URT &I Tl (feh.al. /8er ) AT B

Mo &Y [ A. 5

| B. 7.5
C. 8
D. 2.5
E. NOT



A boat goes 3km against the stream in 20 min and return in 18 min. Find
the speed of sfreame

U dA1d 20 Fae H 9r7 & Aodig 3 fre S & 3R 18 Ade & amog 3
Sl g fr afa I HifeA?
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== B. 0.5
C. 1.5
D. 13
E. NOT



A boat goes 200km downstream in 20 hrs and 28 km upstream in 4 hrs. Find

the time in which he fravel 68km in still water?

Uch A1 URT & 3fe]pel 200 fhaT 20 €¢ # 3 28 fhaell URT & Uidgel 4 ©¢

a;raﬁr%*l ae AT ATd Difeiw fTH ag qid STl A 68 fopaly Y Im=T hear
?
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A boat take 3hrs to cover a certain distance when going with stream and
5 hrs to return to the starting point. The rate of flow of river is 5km/h then

find the speed of boat in still water?

Teh ATd URT & Y SATd AT Teh AT gl B TF A H 3 U &1 FHAI
oicl & 3R URiH g W oiledt d 5 °¢ T AT olcll &l Tl & Yas &l &I
5 foRall/ger & af d Stel & 1d &l I1fd A1 hifau?
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o= A. 15

| B. 12
C. 20
D. 17
E. NOT



A man can swim 9km/h in still water and he takes 3 times as much time to
swim upsiream as to swim downstream. Find the speed of water?

Teh MCH! AT Uell A 9 fhall/8el X Hehdl © 3N 38 URT & Uidpd o H
URT & HJpel R A 3 AT GAT A9l &| Ul Hr Ifd 10 HifSA?
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A boat takes double the time to fravel upstream then it takes downstream.
If the speed of water is 3km/h. Find the speed of boat in still water?

Teh AT URT & Uidgel AT B H Il HAT ofcll & Sidih ag URT &
3eJpel ITAT AT &1 AT Urell &1 a1 3 padl/aer &1 AT STl H AT &y i
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The ratio of speed of a motor-boat to that of the current of water is 36 : 5.

The boat goes along with the current in 5 hours 10 minutes. It will come
back in:

Tch HAlCIdIC TAT YRT I TTel T U 36 : 5 &l HAleldle URT Hr fgem & 5
gc 10 fAde & Jar &, ar g8 fohdel ¢T & gy 3muen?
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. 3h 20m

5h 30m

. 6h 50m

7h 12m
NOT



The ratio of speed of a motorboat to that of the current of wateris 55:7.

The boat goes along with the current in 6 hours 24 minutes. it will come
back in:

Uch AlCIEIC TAT YRT Y T &I HJUId 55:7 & HleIdlc R hr faem # 6
g¢ 24 fAde & el § A g% fohdel & & arfog 3refre

moQO®>

. 8h 16m

12h 11m

. 9h 12m

7h 32m
NOT



A man goes downstream with a boat to some destination and returns
upstream to his original place in 5 hours. If the speed of the boat in sfill
water and the stream are 10 km/hr and 4km/hr respectively, the distance

of the destination from the starting place is:
Uch cgfh 1d 8 URT T feom & fopdl TA WX S1dr & 3R g 9R7 &

ufdger feom & 30a fAad ¥ W 5 8¢ # aud 37 S dr g IS o oo 3
ATd P TTT JAT URT hT IToT hAA: 10 fob.#Y. /ger aur 4 h.a./ger &, ar
YEITAT ol & 37 T 6 gl =1 ©
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. 21km

14km

. 28km

35km
NOT



The speed of current is 4km/h. The boat goes 6ékm and back to the starting
point in 2hrs. Find the speed of boat in still water?

IRT T I 4 FhAl/EeT §) A 6 el STl € 3 2 "¢ A e foig W
aIOE 3T &1 ATT STel A &ATe el I AT hiioiu?
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A boat goes 12 km downstream and comes back to the starting point in 3

hours. If the speed of the current is 3 km/hr, then the speed (in km/hr) of
the boat in still water s :

Teh ATd URT I ool & 12 R, g 7 Pl & dUT IR(AD fdg W 3 T
F argg 3 Sl &1 Ife 9ry A arer 3 R /ger §, df AT ST A A1 &

ATl AT P |
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o= A. 6
B. 7
C. 9
D. 12
E. NOT



